C:h Division with Partial Quotients Name:

Solve each problem. Answers

D 7[795 2 6599 3 5[ 758 .

4 5| 284 5 6| 109 6) g| 292

) 3| 857 8 2| 667 9 5| 946

1-9 [89|78|67]56|44[33[22]11] 0 |
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Division with Partial Quotients Name:. Answer Key
Solve each problem. Answers
D 71 795 2) 6| 599 3 5| 758 . 11314
-700 100 540 90 500 100 '
95 59 258 ” 99r5
-70 10 .54 9 -250 50
25 5 8 3. 151r3
=21 3 -5 - . 5614
4 3
5 18r1
6. 36r4
7. 285r2
49 5| 284 5 6| 109 6) 8| 292
_250 50 .60 10 2240 30 s 333r1
34 49 52
30 6 48 8 48 6 0. 18911
4 1 4
) 3| 857 8 2| 667 9 5| 946
600 200 600 300 500 100
257 67 446
2240 80 -60 30 -400 80
17 7 46
-15 5 -6 3 45 9
2 1 1
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1-9 [89|78|67]56|44[33[22]11] 0 |




C:h Division with Partial Quotients Name:

Solve each problem. Answers

151 r3 56 r4 99 r5
36 r4 113 r4 18 r1 1

D 7795 2 6[599 Y 5[ 758 2

4 5| 284 5 6] 109 6) gl 292

M odified 1-6 [83[67]50(33[17] 0 |
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